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 [5×10] 
 

1. a)  

  (P Q) (R S) / P (R S)      [1] 

 b)  [2+2] 

   i) 1. (M N) (O P)    

    2. ~ O / ~ M   

    3. ~ O ~ P  

    4.  ~ (O P)   

    5.  ~ (M N)   

    6. ~ M ~ N  

    7. ~ M  

   ii) 1. A B   

    2.  B C   

    3. C A  

    4. A ~ C / ~ A ~ C    

    5.  A C   

    6. (A C) (C A)   

    7. A C   

    8. (A C) (~ A ~ C)   

    9. ~ A ~ C  

    10. ~ (A C)   

    11. ~ A ~ C  
 

2.  [2½×2] 

 a) Z A  

  Z A / A   

 b)  T (U V)  

  (U V) W / T W     
 

3. a)  [2] 

  (P Q) [~ (Q R) ~ (R P)]    

 b)  [3] 

  (A B) (C D)  , (D E) F / A F     
 

4. a) (p q) (r s)    [2] 

  (p q) (r s)    

 b)  [1+1+1] 
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   i) G H, H G / (G H) (~ G ~ H)     

   ii) H (I J) / H I     

   iii) N O / (N P) O    

   iv) A B, C D, A C / (A B) (C D)      
 

5. a)  [2½] 

 b)  [2½] 
 

6. a)  [2½] 

 b)  [2½] 
 

7.  [2½+2½] 

 a) (p q) (p r)   

 b) (~ p p) (p s)   
 

8.  [5] 

9.  [5] 

10.  [5] 

11.  [5] 

12.  [5] 

13.  [5] 

14.  [5] 

15.  [5] 

16.  —  [5] 
 

English Version 

Answer any ten questions : [5×10] 
 

1. a) What is wrong in this following formal proof? 

  (P Q) (R S) / P (R S)      [1] 

 b) Give the justification for the steps which are not premisses in the following formal proofs : [2+2] 

   i) 1. (M N) (O P)    

    2. ~ O / ~ M   

    3. ~ O ~ P  

    4.  ~ (O P)   

    5.  ~ (M N)   

    6. ~ M ~ N  

    7. ~ M  

   ii) 1. A B   

    2.  B C   

    3. C A  

    4. A ~ C / ~ A ~ C    

    5.  A C   

    6. (A C) (C A)   
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    7. A C   

    8. (A C) (~ A ~ C)   

    9. ~ A ~ C  

    10. ~ (A C)   

    11. ~ A ~ C  
 

2. Construct formal proof for the following arguments : [2½×2] 

 a) Z A  

  Z A / A   

 b)  T (U V)  

  (U V) W / T W     
 

3. a) Use the method of resolution to verify that the following statement is a tautology : [2] 

  (P Q) [~ (Q R) ~ (R P)]    

 b) Jest the validity of the following argument by the method of resolution : [3] 

  (A B) (C D)  , (D E) F / A F     
 

4. a) If (p q) (r s)   is false, then determine the truth value of the following : [2] 

  (p q) (r s)    

 b) Construct formal proof of validity for the following arguments : (any three) [1+1+1] 

   i) G H, H G / (G H) (~ G ~ H)     

   ii) H (I J) / H I     

   iii) N O / (N P) O    

   iv) A B, C D, A C / (A B) (C D)      
 

5. a) What is truth-value? [2½] 

 b) What is substitution instance? [2½] 
 

6. a) What is statement? [2½] 

 b) What is statement form? [2½] 
 

7. Determine the following statements whether the followings are tautologies or contingents or self-

contradictories? [2½+2½] 

 a) (p q) (p r)   

 b) (~ p p) (p s)   
 

8. What do you understand by ‘symbolic Logic’? [5] 

9. What is meant by innate idea? [5] 

10. Discuss any one argument given by Locke to refute innate ideal theory. [5] 

11. What according to Locke, is meant by the term ‘idea’? [5] 

12. What according to Locke, is the substances? [5] 

13. What is impression? [5] 

14. Explain the three laws of association. [5] 

15. Make a distinction between matters of fact and relation of ideas. [5] 

16. “Be a philosopher but amidst all your philosophy be still a man”— Explain. [5] 

 

 


